Examples with contradictions
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e FishLike is equivalent to Anthro.
e BirdLike is equivalent to Anthro.

e No FishLike is BirdLike.

So no Anthro is Anthro. Thus nothing is an Anthro,
nor FishLike, nor BirdLike.
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e AnthroHawk copies only HawkEye.
e AnthroHawk copies at least one Speed.
So at least one Speed is HawkEye. But
e No Speed is HawkEye.
Thus at least one of the following has to be true

e nothing is an AnthroHawk,

nothing copies something.
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A thing wins at least one TwoStars.

A thing wins at least one FiveStars.

No TwoStars is FiveStars.

e All TwoStars are Rank.

e All FiveStars are Rank.

So the thing wins two different kinds of Rank,
TwoStars and FiveStars. But

e A thing wins only at most one Rank.
Thus at least one of the following has to be true

e nothing is a TwoStars,

e nothing is a FiveStars,

e nothing wins something.




